Refer Standard

100x16 Plate

9 10
S.3 S.3
| Refer Standard Drawing AGO [
! Centre to centre !
100x100x8 SS M20 bolt, nut and lock nut
EQ angle
150x75 PFC
: 102x102x10 Angle ([ / 0,
| N TH H
L — — _ _ o= _|____| _ =
T I
60x18 slotted holes for | | |
T16125 S/S Trubolts \8*-5@ @ =: o] | :} a@
o
S 31 | |
o
el | |
08 | e e
6FWAR— 1 o[ I I
7#‘) — 2 - —1u
100x16x530mm plate | |
(Not shown for clarity) ! !
——————————————— _I_['I'I'____E_'_I_II_____
l It +[~
SS Slide gate rails = | — :_49_ @ 0 _4)_: ]
Drawing A60 S.2 | | M20 SS Chemset anchors
Pl 50x50 SS washers
an 100x100x8
x100x
1:10 EQ angle
100x50x20 plate
100x16x530 plate 150x75 PFC \ ﬂ/ SS M20 bolt, nut and lock nut
(Not shown for clarity) \ ) - -T-
ﬁ::. : 4 2T D Shackle
- 0l — = — 0 1 — —1 L 7] 3|
| @ | 500 | 0o
| & i S {2T hook
| - -
| 2
| I 425 | T
. I |
| @ Elevation
| 1:10
| Sluice gate in
L elevated position
S Slide gate rails Refer Standard
Eefer Standard Drawing A60 S.2
rawing AG60 S.2 \ — ]

<+

210

I
|
I
|
22 holes for M20Q SS bolts 65mm 4"

0 ‘;58‘38‘68} 122

M22 hole for SS M20 bolt,

nut & lock nut

100x16 plate

M20 S/S threaded bar Chem:s
anchors 50x50 SS washers

long complete with lock nuts

<

q%m

240x240x20 plate (Plate 1) — |
6EWAR |
Plate 2 welded to Plate 1 and | | (8)
Plate 2 bolted to concrete wall _ | N
M20 S/S threaded bar Chemset N a1
anchors 50x50 SS washers / | ! 400 I |
| |
240x240x20 plate (Plate 2) |
Section |
1:10 |
Hydraulic ram lifting mechanism |
| 635 |
| v |
~
i 100x100x8 : : |
\ EQangle | | Slide gate |
L — Refer Standard — [F
4 Drawing A60 S.1
3l |75 415 (TBC) 7570 . .
— — — — 7
™ |_ 7o)
- | | S .
ly |, e
i ity -+
| o 0 |, Construction
| f Rev |Description
i | RN
i

M22 hole for M20
Chemset anchors
! 50x50 SS washers !

|

| 400 (TBC)

NOTES

1. All dimensions are in millimetres unless otherwise shown.
2. Particular care is to be taken to ensure that all welds are

compatible with the materials being joined.

3. Remove all burrs, sharp edges, weld slag and spatter after

fabrication is complete.

4. All steel to be hot dip galvanised following fabrication
5. Concrete flood gate wall design thickness = 400mm (TBC).
6. Contractor to confirm dimensions prior to fabrication.

Approx. 1200mm

D Shackle & chain & hook - Confirm with site measure

9 - _~2T steel hook

. A Morphet | 4/12/19

| Approved | Date

Waikato
A" A" 4

REGIONAL COUNCIL

Sluice Gate

Standard Drawings

Hydraulic Ram

Date.

4 December 2019

A McCaughan

Checked.

M Farrell

Drawing Number

WRC-1695

S.3

REV

0

Scale.

As indicated

@ A3




	Sheets and Views
	Layout3


